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• R

•
• R

• R Ver 5.0�

http://psych.educa.nagoya-u.ac.jp/
26

R

27

1 (x1) 3 
(x3) 

1 3
(raw_data.csv) (correct1.csv)

d1 <-
read.table(“raw_data.csv”,
header=TRUE,sep=“,”)

Key1 <-
read.table(“correct1.csv”,
header=TRUE,sep=“,”)
Key1 <- t(key1[,c(1,2,3)]) 28

• ITEMAN
library(ITEMAN)

result.1 <-
ITEMAN1(d1,key1,options=c(”1”,”2”,”3”,”4”),
ngroup=4,correction=TRUE)

• ITEMAN1

•

result.1

29

• (Item Difficulty)

Point-Biserial Biserial
OK
ITEM STATISTICS

Item Difficulty … Point-Biserial Biserial
Item 1           0.585 …         0.392    0.495
Item 2           0.319 …         0.261    0.340
Item 3           0.515 …         0.255    0.320

•
DISTRACTOR SELECTION PROPORTIONS

1     2     3     4 
Item 1 0.173 0.098 0.143 0.585
Item 2 0.319 0.529 0.115 0.037
Item 3 0.173 0.169 0.515 0.143 30

•
DISTRACTOR Biserial

1      2      3      4 
Item 1 -0.401 -0.224 -0.228  0.495
Item 2  0.340 -0.117 -0.227 -0.382
Item 3 -0.188 -0.338  0.320  0.025

•
print(result.1$plots[1]) print(result.1$plots[2])
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